



Name: _____

Date: _____ Score: _____

$$\left(-\frac{3}{4}\right)^3 - \frac{1}{5} =$$

$$\left(\frac{1}{4}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{3}{5}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{5}\right)^3 + \frac{3}{4} =$$

$$\left(\frac{3}{5}\right)^0 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{3}{4}\right) - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{4}\right)^3 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{5}\right) + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{6}\right)^2 + \frac{1}{5} =$$

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{2}{5}\right) + \frac{1}{6} =$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{5} =$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{4} =$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right)^3 - \frac{1}{6} =$$

$$\left(\frac{1}{5}\right)^2 - \frac{1}{6} =$$

$$\left(\frac{1}{4}\right)^3 + \left(-\frac{3}{5}\right) =$$



Name: _____

Date: _____ Score: _____

$$\left(-\frac{3}{4}\right)^3 - \frac{1}{5} = \left(-\frac{199}{320}\right)$$

$$\left(\frac{1}{4}\right)^2 - \frac{1}{2} = \left(-\frac{7}{16}\right)$$

$$\left(-\frac{3}{5}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{39}{100}\right)$$

$$\left(-\frac{1}{5}\right)^3 + \frac{3}{4} = \frac{371}{500}$$

$$\left(\frac{3}{5}\right)^0 - \left(-\frac{3}{4}\right) = \frac{7}{4} = 1\frac{3}{4}$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{3}{5}\right) = \frac{76}{135}$$

$$\left(\frac{3}{4}\right) - \left(-\frac{1}{5}\right) = \frac{19}{20}$$

$$\left(\frac{1}{4}\right)^3 + \left(-\frac{1}{3}\right) = \left(-\frac{61}{192}\right)$$

$$\left(-\frac{1}{5}\right) + \left(-\frac{1}{3}\right) = \left(-\frac{8}{15}\right)$$

$$\left(\frac{1}{6}\right)^2 + \frac{1}{5} = \frac{41}{180}$$

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{2} = \left(-\frac{7}{18}\right)$$

$$\left(-\frac{2}{5}\right) + \frac{1}{6} = \left(-\frac{7}{30}\right)$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{1}{2}\right) = \frac{11}{18}$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{3}{8}\right)$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{5} = \frac{9}{20}$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{4} = 0$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{107}{216}\right)$$

$$\left(-\frac{1}{2}\right)^3 - \frac{1}{6} = \left(-\frac{7}{24}\right)$$

$$\left(\frac{1}{5}\right)^2 - \frac{1}{6} = \left(-\frac{19}{150}\right)$$

$$\left(\frac{1}{4}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{187}{320}\right)$$